34 (4)
X TR E)) Tt Fidtik ea) TL & At 21, Yzs 20
(4 Y0<)+ 29060 129 k-2) =)
f=allg yi-h=) Y=o
St () F 3N
Yai (K 13fzi (FD)2]e: (k-2)=0
2 NE\+f2 =0
A= D=2
SFp A i) = C()H G
PN/ 514
B H}‘-: ’“f(’z/ l:/
‘0;,‘ 2= U 7‘%%}‘:0
= ()= /| (=-¢
) Nsi (€)= & ¢=)%, kzo
O F o &
Yo s ()R Yos (LD )=] k20
sz["// ‘:yzj 62/):()
2 fsl s |-V (2)= | P Jas (=]
Yes (1) #53s) 125 (1) =) 7 Yegiy= =2
Ve ()= GV F g2 47
MAHAE. ,
Wscle) = ~ 3 () +H-"1 7
D zhi
)= Jesl ) # i k) = ‘f(‘//K\fgb/( £7, |20



3.000b)
155 3.p AR £5% ﬁﬁﬂz/ﬁﬁy//

=y
w%ﬂ =%

- 7\ 0.2f

T R A5, 2 7005 XL
w A A5
YU =T A1) = 008X ( f~)
Bz 17
ye) = ¥ = 0.5xk-1)
% }z,z/z/-/;,zM) +0.2¥ b (k=2) =3t/
W =D )=0 = ok 1 lY= ]
=) Hif A
Wi = 6Dt (2 ko
N5t = (=2 675
2hk)= (2 +302" TE0k)

WG 1 G5t fo
b= )~ k1)

:J[ZZZW) J /4;0



http://www.tcpdf.org

